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by Shean.T

Leo

Week 3

빈칸



Day 1
* 작수, 올해 6/9 요지

- 세 시험지 모두 PS의 느낌은 크게 없고 ‘AB’를 확실히 잡아야 했던 지문이었다. 특히 작수, 올해 9평은 둘 다 공통

적으로 ‘전문가 vs. 대중’의 AB로 동일했다는 점에서 이번 수능도 항상 ‘개인(천재, 전문가..) vs. 집단(대중, 시민)’

의 AB를 염두해두면 좋을 것이다.

Day 2
* 작수, 올해 6/9 주제

- 올해 6평과 9평 모두 AB를 정확히 잡고 정답 선지에서 AB를 확인하며 지문의 핵심을 잡아주는 것이 중요했다. 6

평은 어린 시절 및 어른의 ‘놀이’에 대한 소재로 어렵지 않았지만, 9평은 칸트의 관점에서 기하학과 미적 경험을 AB

로 했기 때문에 소재 자체가 어려웠다. 수능의 AB 소재는 9평과 유사하거나 살짝 힘을 뺀 정도로 출제되지 않을까.

Day 3
* 작수, 올해 6/9 제목

- 세 시험지 모두 완전 AB 개념 잡기이고, 그 속에 P를 섞었다. 6, 9평 모두 A쪽(통념, 필자가 까는 것)의 P를 강조하

는 선지로 구성되었다. 제목 문제인 만큼 지문 소재가 쉽지 않은데, 대립적 표현 앞뒤를 확실하게 읽어서 AB 개념을 

정확히 잡아주는 게 중요하다.

Day 4
* 작수, 올해 6/9 의미

- 작수는 드물게도 의미 지문이 PS 중심이었으나, 올해 6, 9평은 완전한 AB였다. 특히 9평은 또 개인 vs. 집단의 고전

적인 AB였다는 점에서 이 개념은 그냥 수능날 머릿속에 박고 가는 게 좋겠다. 작년 수능처럼 ‘환경’ 소재와 같이 PS인 

경우는 드물고, 의미 문제는 완전 깔끔한 AB일 때가 많음을 염두해두자(아니 이번 수능도 당연 PS일 수도 있지..!).

Day 5
* 주간 KISS 최중요 평가원 4문제

- 이번 9평을 필두로 돋보였던 ‘개인 vs. 집단(사회)’의 AB 지문들을 모았다. 19학년도 9평 23번은 ‘대중 vs. 비평가’

의 AB로 역시 중요 기출 소재는 돌고 돈다는 것을 알 수 있다. 이번 수능에서도 대의파악에서 ‘개인 vs. 집단(사회)’

의 AB 지문은 나올 가능성이 아주 높으니 꼼꼼하게 학습하도록 하자.

Day 6
* 주간 KISS 최중요 평가원 4문제

- 최근 평가원 대의파악 중 ‘고난도, 중요 소재’ AB 지문들을 넣었다. 이번 수능도 대의파악에서 9평 느낌의 고난도, 

빈출 소재 AB 지문들이 나올 가능성이 높기 때문에, 이 지문들을 꼼꼼하게 학습하자. 특히, ‘유전(선천) vs. 환경(후

천)’의 AB는 아무리 강조해도 지나치지 않는다.

Day 7
* 주간 KISS 최중요 평가원 4문제

- 최근 평가원 밑줄 의미 중 ‘고난도, 중요 소재’ AB 지문들을 넣었다. 이번 수능도 이정도 난이도로 나올 가능성이 

높다. 또한 그냥 AB가 명확하게 표현된 게 아니라, AB를 왔다갔다 하며 애매하게 표현하기 때문에, 지문 전체적으

로, 최종적으로 결국 AB가 무엇인지 잡는 게 중요하다.

Week 3: 빈칸



by Shean.T

Virgo

Week 3

빈칸



8 orbi.kr

출처 2021.수능.31

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  In the classic model of the Sumerian economy, the 
temple functioned as an administrative authority 
governing commodity production, collection, and 
redistribution. The discovery of administrative 
tablets from the temple complexes at Uruk suggests 
that token use and consequently writing evolved as a 
tool of centralized economic governance. Given the 
lack of archaeological evidence from Uruk-period 
domestic sites, it is not clear whether individuals 
also used the system for __________________. For 
that matter, it is not clear how widespread literacy 
was at its beginnings. The use of identifiable 
symbols and pictograms on the early tablets is 
consistent with administrators needing a lexicon that 
was mutually intelligible by literate and nonliterate 
parties. As cuneiform script became more abstract, 
literacy must have become increasingly important to 
ensure one understood what he or she had agreed to. 

* archaeological: 고고학적인  ** lexicon: 어휘 목록 

*** cuneiform script: 쐐기 문자 

① religious events 
② personal agreements 
③ communal responsibilities 
④ historical records 
⑤ power shifts

NOTE

출처 2022.6.31

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  The growth of academic disciplines and sub-
disciplines, such as art history or palaeontology, and 
of particular figures such as the art critic, helped 
produce principles and practices for selecting and 
organizing what was worthy of keeping, though it 
remained a struggle. Moreover, as museums and 
universities drew further apart toward the end of 
the nineteenth century, and as the idea of objects as 
a highly valued route to knowing the world went 
into decline, collecting began to lose its status 
as a worthy intellectual pursuit, especially in the 
sciences. The really interesting and important 
aspects of science were increasingly those invisible 
to the naked eye, and the classification of things 
collected no longer promised to produce cutting-
edge knowledge. The term “butterfly collecting” 
could come to be used with the adjective “mere” to 
indicate a pursuit of _________ academic status. 

* palaeontology: 고생물학  ** adjective: 형용사 

① competitive 
② novel
③ secondary 
④ reliable
⑤ unconditional

NOTE

Week 3 Day 1  2022 KISS ESSENCE 빈칸

KISS ESSENCE
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NOTE

Day 1 2022 KISS ESSENCE 빈칸Week 3

출처 2022.9.31

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  When examining the archaeological record of 
human culture, one has to consider that it is vastly 
__________. Many aspects of human culture have 
what archaeologists describe as low archaeological 
visibility, meaning they are difficult to identify 
archaeologically. Archaeologists tend to focus on 
tangible (or material) aspects of culture: things that 
can be handled and photographed, such as tools, 
food, and structures. Reconstructing intangible 
aspects of culture is more difficult, requiring that 
one draw more inferences from the tangible. It is 
relatively easy, for example, for archaeologists to 
identify and draw inferences about technology and 
diet from stone tools and food remains. Using the 
same kinds of physical remains to draw inferences 
about social systems and what people were thinking 
about is more difficult. Archaeologists do it, but 
there are necessarily more inferences involved in 
getting from physical remains recognized as trash to 
making interpretations about belief systems. 

* archaeological: 고고학의 

① outdated                      ② factual 
③ incomplete                  ④ organized 
⑤ detailed

NOTE

KISS ESSENCE
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출처 2021.수능.32

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Choosing similar friends can have a rationale. 
Assessing the survivability of an environment 
can be risky (if an environment turns out to be 
deadly, for instance, it might be too late by the 
time you found out), so humans have evolved 
the desire to associate with similar individuals as 
a way to perform this function efficiently. This 
is especially useful to a species that lives in so 
many different sorts of environments. However, 
the carrying capacity of a given environment 
____________________________. If resources are 
very limited, the individuals who live in a particular 
place cannot all do the exact same thing (for 
example, if there are few trees, people cannot all 
live in tree houses, or if mangoes are in short supply, 
people cannot all live solely on a diet of mangoes). 
A rational strategy would therefore sometimes be to 
avoid similar members of one’s species. 

① exceeds the expected demands of a community 
② is decreased by diverse means of survival 
③ places a limit on this strategy 
④ makes the world suitable for individuals 
⑤ prevents social ties to dissimilar members

NOTE

출처 2022.6.32

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Some of the most insightful work on information 
seeking emphasizes “strategic self-ignorance,” 
understood as “the use of ignorance as an excuse 
to engage excessively in pleasurable activities 
that may be harmful to one’s future self.” The 
idea here is that if people are present-biased, 
they  might  avo id  in format ion  tha t  would 
__________________________ ― perhaps because 
it would produce guilt or shame, perhaps because 
it would suggest an aggregate trade-off that would 
counsel against engaging in such activities. St. 
Augustine famously said, “God give me chastity ― 
tomorrow.” Present-biased agents think: “Please let 
me know the risks ― tomorrow.” Whenever people 
are thinking about engaging in an activity with 
short-term benefits but long-term costs, they might 
prefer to delay receipt of important information. 
The same point might hold about information that 
could make people sad or mad: “Please tell me what 
I need to know ― tomorrow.” 

* aggregate: 합계의  ** chastity: 정결 

① highlight the value of preferred activities 
② make current activities less attractive 
③ cut their attachment to past activities 
④ enable them to enjoy more activities 
⑤ potentially become known to others

NOTE

Day 2 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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출처 2022.9.32

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Even as mundane a behavior as watching TV may be 
a way for some people to _____________________. 
To test this idea, Sophia Moskalenko and Steven 
Heine gave participants false feedback about 
their test performance, and then seated each 
one in front of a TV set to watch a video as the 
next part of the study. When the video came on, 
showing nature scenes with a musical soundtrack, 
the experimenter exclaimed that this was the 
wrong video and went supposedly to get the 
correct one, leaving the participant alone as the 
video played. The participants who had received 
failure feedback watched the video much longer 
than those who thought they had succeeded. The 
researchers concluded that distraction through 
television viewing can effectively relieve the 
discomfort associated with painful failures or 
mismatches between the self and self-guides. In 
contrast, successful participants had little wish to be 
distracted from their self-related thoughts! 

* mundane: 보통의 

① ignore uncomfortable comments from their close peers 
② escape painful self-awareness through distraction 
③ receive constructive feedback from the media 
④ refocus their divided attention to a given task 
⑤ engage themselves in intense self-reflection

NOTE

NOTE

Day 2 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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출처 2021.수능.33

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Thanks to newly developed neuroimaging 
technology, we now have access to the specific 
brain changes that occur during learning. Even 
though all of our brains contain the same basic 
structures, our neural networks are as unique as our 
fingerprints. The latest developmental neuroscience 
research has shown that the brain is much more 
malleable throughout life than previously assumed; 
it develops in response to its own processes, to 
its immediate and distant “environments,” and to 
its past and current situations. The brain seeks to 
create meaning through establishing or refining 
existing neural networks. When we learn a new 
fact or skill, our neurons communicate to form 
networks of connected information. Using this 
knowledge or skill results in structural changes to 
allow similar future impulses to travel more quickly 
and efficiently than others. High-activity synaptic 
connections are stabilized and strengthened, while 
connections with relatively low use are weakened 
and eventually pruned. In this way, our brains are 
____________________________. [3점] 

* malleable: 순응성이 있는  ** prune: 잘라 내다 

① sculpted by our own history of experiences 
② designed to maintain their initial structures 
③ geared toward strengthening recent memories 
④ twinned with the development of other organs 
⑤ portrayed as the seat of logical and creative thinking

NOTE

출처 2022.6.33

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Concepts of nature are always cultural statements. 
This may not strike Europeans as much of an 
insight, for Europe’s landscape is so much of a 
blend. But in the new worlds ― ‘new’ at least to 
Europeans ― the distinction appeared much clearer 
not only to European settlers and visitors but also to 
their descendants. For that reason, they had the fond 
conceit of primeval nature uncontrolled by human 
associations which could later find expression in an 
admiration for wilderness. Ecological relationships 
certainly have their own logic and in this sense 
‘nature’ can be seen to have a self-regulating but 
not necessarily stable dynamic independent of 
human intervention. But the context for ecological 
interactions _________________________. We 
may not determine how or what a lion eats but we 
certainly can regulate where the lion feeds. [3점] 

* conceit: 생각  ** primeval: 원시(시대)의  

*** ecological: 생태학의 

① has supported new environment-friendly policies 
② has increasingly been set by humanity 
③ inspires creative cultural practices 
④ changes too frequently to be regulated 
⑤ has been affected by various natural conditions

NOTE

Day 3 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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출처 2022.9.33

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  It is important to recognise the interdependence 
between individual, culturally formed actions and 
the state of cultural integration. People work within 
the forms provided by the cultural patterns that they 
have internalised, however contradictory these may 
be. Ideas are worked out as logical implications or 
consequences of other accepted ideas, and it is in 
this way that cultural innovations and discoveries 
are possible. New ideas are discovered through 
logical reasoning, but such discoveries are inherent 
in and integral to the conceptual system and are 
made possible only because of the acceptance 
of its premises. For example, the discoveries of 
new prime numbers are ‘real’ consequences of 
the particular number system employed. Thus, 
cultural ideas show ‘advances’ and ‘developments’ 
because they _____________________________. 
The cumulative work of many individuals produces 
a corpus of knowledge within which certain 
‘discoveries’ become possible or more likely. Such 
discoveries are ‘ripe’ and could not have occurred 
earlier and are also likely to be made simultaneously 
by numbers of individuals. [3점] 

* corpus: 집적(集積)  ** simultaneously: 동시에

 
① are outgrowths of previous ideas 
② stem from abstract reasoning ability 
③ form the basis of cultural universalism 
④ emerge between people of the same age 
⑤ promote individuals’ innovative thinking

NOTE

NOTE

Day 3 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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출처 2021.수능.34

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Successful integration of an educational technology 
is marked by that technology being regarded by 
users as an unobtrusive facilitator of learning, 
instruction, or performance. When the focus shifts 
from the technology being used to the educational 
purpose that technology serves, then that technology 
is becoming a comfortable and trusted element, and 
can be regarded as being successfully integrated. 
Few people give a second thought to the use of a 
ball-point pen although the mechanisms involved 
vary ― some use a twist mechanism and some use 
a push button on top, and there are other variations 
as well. Personal computers have reached a similar 
level of familiarity for a great many users, but 
certainly not for all. New and emerging technologies 
often introduce both fascination and frustration with 
users. As long as ____________________________ 
in promoting learning, instruction, or performance, 
then one ought not to conclude that the technology 
has been successfully integrated ― at least for that 
user. [3점] 

* unobtrusive: 눈에 띄지 않는 

① the user successfully achieves familiarity with 
the technology 

② the user’s focus is on the technology itself rather 
than its use

③ the user continues to employ outdated educational 
techniques 

④ the user involuntarily gets used to the misuse of 
the technology 

⑤ the user’s preference for interaction with other 
users persists

NOTE

출처 2022.6.34

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Emma Brindley has investigated the responses 
of European robins to the songs of neighbors and 
strangers. Despite the large and complex song 
repertoire of European robins, they were able to 
discriminate between the songs of neighbors and 
strangers. When they heard a tape recording of 
a stranger, they began to sing sooner, sang more 
songs, and overlapped their songs with the playback 
more often than they did on hearing a neighbor’s 
song. As Brindley suggests, the overlapping of 
song may be an aggressive response. However, 
this difference in responding to neighbor versus 
stranger occurred only when the neighbor ’s 
song was played by a loudspeaker placed at the 
boundary between that neighbor’s territory and 
the territory of the bird being tested. If the same 
neighbor’s song was played at another boundary, 
one separating the territory of the test subject from 
another neighbor, it was treated as the call of a 
stranger. Not only does this result demonstrate that 
_____________________________, but it also 
shows that the choice of songs used in playback 
experiments is highly important. [3점]

 * robin: 울새  ** territory: 영역 

① variety and complexity characterize the robins’ songs 
② song volume affects the robins’ aggressive behavior
③ the robins’ poor territorial sense is a key to survival 
④ the robins associate locality with familiar songs 
⑤ the robins are less responsive to recorded song

NOTE

Day 4 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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출처 2022.9.34

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Enabling animals to ________________________
is an almost universal function of learning. Most 
animals innately avoid objects they have not 
previously encountered. Unfamiliar objects may 
be dangerous; treating them with caution has 
survival value. If persisted in, however, such careful 
behavior could interfere with feeding and other 
necessary activities to the extent that the benefit 
of caution would be lost. A turtle that withdraws 
into its shell at every puff of wind or whenever a 
cloud casts a shadow would never win races, not 
even with a lazy rabbit. To overcome this problem, 
almost all animals habituate to safe stimuli that 
occur frequently. Confronted by a strange object, an 
inexperienced animal may freeze or attempt to hide, 
but if nothing unpleasant happens, sooner or later it 
will continue its activity. The possibility also exists 
that an unfamiliar object may be useful, so if it 
poses no immediate threat, a closer inspection may 
be worthwhile. [3점] 

* innately: 선천적으로 

① weigh the benefits of treating familiar things with care 
② plan escape routes after predicting possible attacks 
③ overcome repeated feeding failures for survival 
④ operate in the presence of harmless stimuli 
⑤ monitor the surrounding area regularly

NOTE

NOTE

Day 4 2022 KISS ESSENCE 빈칸Week 3

KISS ESSENCE
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Day 5 2022 KISS ESSENCE 평가원

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  The role of science can sometimes be overstated, 
with its advocates slipping into scientism. Scientism 
is the view that the scientific description of reality is 
the only truth there is. With the advance of science, 
there has been a tendency to slip into scientism, and 
assume that any factual claim can be authenticated 
if and only if the term ‘scientific’ can correctly be 
ascribed to it. The consequence is that non-scientific 
approaches to reality ― and that can include all the 
arts, religion, and personal, emotional and value-
laden ways of encountering the world ― may 
become labelled as merely subjective, and therefore 
of little _____________ in terms of describing the 
way the world is. The philosophy of science seeks 
to avoid crude scientism and get a balanced view on 
what the scientific method can and cannot achieve.

* ascribe: 속하는 것으로 생각하다  ** crude: 투박한

① question 	  ② account 	  ③ controversy
④ variation 	  ⑤ bias

NOTE

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Research with human runners challenged 
conventional wisdom and found that the ground-
reaction forces at the foot and the shock transmitted 
up the leg and through the body after impact with 
the ground _________________ as runners moved 
from extremely compliant to extremely hard 
running surfaces. As a result, researchers gradually 
began to believe that runners are subconsciously 
able to adjust leg stiffness prior to foot strike based 
on their perceptions of the hardness or stiffness of 
the surface on which they are running. This view 
suggests that runners create soft legs that soak 
up impact forces when they are running on very 
hard surfaces and stiff legs when they are moving 
along on yielding terrain. As a result, impact forces 
passing through the legs are strikingly similar over 
a wide range of running surface types. Contrary 
to popular belief, running on concrete is not more 
damaging to the legs than running on soft sand. [3점]

* compliant: 말랑말랑한  ** terrain: 지형

① varied little
② decreased a lot
③ suddenly peaked
④ gradually appeared
⑤ were hardly generated

NOTE

Week 3

KISS ESSENCE
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Day 5 2022 KISS ESSENCE 평가원

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  “What’s in a name? That which we call a rose, by 
any other name would smell as sweet.” This thought 
of Shakespeare’s points up a difference between 
roses and, say, paintings. Natural objects, such as 
roses, are not _____________. They are not taken 
as vehicles of meanings and messages. They belong 
to no tradition, strictly speaking have no style, and 
are not understood within a framework of culture 
and convention. Rather, they are sensed and savored 
relatively directly, without intellectual mediation, 
and so what they are called, either individually or 
collectively, has little bearing on our experience 
of them. What a work of art is titled, on the other 
hand, has a significant effect on the aesthetic face it 
presents and on the qualities we correctly perceive in 
it. A painting of a rose, by a name other than the one 
it has, might very well smell different, aesthetically 
speaking. The painting titled Rose of Summer 
and an indiscernible painting titled Vermillion 
Womanhood are physically, but also semantically 
and aesthetically, distinct objects of art. 

* savor: 음미하다  ** indiscernible: 식별하기 어려운 

*** semantically: 의미적으로 

① changed          ② classified         ③ preserved 
④ controlled       ⑤ interpreted

NOTE

NOTE

Week 3
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Day 6 2022 KISS ESSENCE 평가원

출처 2017.9.32

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오. 

  When people try to control situations that are 
essentially uncontrollable, they are inclined to 
experience high levels of stress. Thus, suggesting 
that they need to take active control is bad advice 
in those situations. What they need to do is to 
accept that some things are beyond their control. 
Similarly, teaching people to accept a situation 
that could readily be changed could be bad advice; 
sometimes the only way to get what you want is 
to take active control. Research has shown that 
when people who feel helpless fail to take control, 
they experience negative emotional states such as 
anxiety and depression. Like stress, these negative 
emotions can damage the immune response. 
We can see from this that health is not linearly 
related to control. For optimum health, people 
should be encouraged to take control to a point 
______________________________. [3점]

① but to yield to the situations within their control
② but to disregard immune response when stressed
③ but to recognize when further control is impossible
④ and to fight against uncontrollable situations persistently
⑤ and to try harder to conquer uncontrollable stressful 

situations

NOTE

출처 2018.수능.33

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.
 

  In the less developed world, the percentage of the 
population involved in agriculture is declining, but 
at the same time, those remaining in agriculture are 
not benefiting from technological advances. The 
typical scenario in the less developed world is one 
in which a very few commercial agriculturalists are 
technologically advanced while the vast majority are 
incapable of competing. Indeed, this vast majority 
________________________________ because 
of larger global causes. As an example, in Kenya, 
farmers are actively encouraged to grow export 
crops such as tea and coffee at the expense of basic 
food production. The result is that a staple crop, 
such as maize, is not being produced in a sufficient 
amount. The essential argument here is that the 
capitalist mode of production is affecting peasant 
production in the less developed world in such a 
way as to limit the production of staple foods, thus 
causing a food problem. [3점]

* staple: 주요한  ** maize: 옥수수  
*** peasant: 소농(小農)

① have lost control over their own production
② have turned to technology for food production
③ have challenged the capitalist mode of production
④ have reduced their involvement in growing cash crops
⑤ have regained their competitiveness in the world market

NOTE

Week 3
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Day 6 2022 KISS ESSENCE 평가원

출처 2017.6.32

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  What story could be harsher than that of the 
Great Auk, the large black-and-white seabird that 
in northern oceans took the ecological place of a 
penguin? Its tale rises and falls like a Greek tragedy, 
with island populations savagely destroyed by 
humans until almost all were gone. Then the very 
last colony found safety on a special island, one 
protected from the destruction of humankind by 
vicious and unpredictable ocean currents. These 
waters presented no problem to perfectly adapted 
seagoing birds, but they prevented humans from 
making any kind of safe landing. After enjoying 
a few years of comparative safety, disaster of a 
different kind struck the Great Auk. Volcanic activity 
caused the island refuge to sink completely beneath 
the waves, and surviving individuals were forced 
to find shelter elsewhere. The new island home 
they chose ________________________________
in one terrible way. Humans could access it with 
comparative ease, and they did! Within just a few 
years the last of this once-plentiful species was 
entirely eliminated. [3점]

* savagely: 잔혹하게

① lacked the benefits of the old
② denied other colonies easy access
③ faced unexpected natural disasters
④ caused conflicts among the refugees
⑤ had a similar disadvantage to the last island

NOTE

출처 2018.9.33

4. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  Externalization is the foundation from which 
many narrative conversations are built. This 
requires a particular shift in the use of language. 
Often externalizing conversations involve tracing 
the influence of the problem in a child's life over 
time and how the problem has disempowered 
the child by limiting his ability to see things in 
a different light. The counsellor helps the child 
to change by deconstructing old stories and 
reconstructing preferred stories about himself 
and his life. To help the child to develop a new 
story, the counsellor and child search for times 
when the problem has not influenced the child 
or the child's life and focus on the different 
ways the child thought, felt and behaved. These 
______________________________ help the child 
create a new and preferred story. As a new and 
preferred story begins to emerge, it is important to 
assist the child to hold on to, or stay connected to, 
the new story. [3점]

① exceptions to the problem story
② distances from the alternative story
③ problems that originate from the counsellor
④ efforts to combine old and new experiences
⑤ methods of linking the child’s stories to another’s

NOTE

Week 3
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Day 7 2022 KISS ESSENCE 평가원

출처 2017.9.34

1. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오. 

  Even if it is correct to say that we express and 
represent our thoughts in language, it may be a 
big mistake to suppose that there are structural 
similarities between what is doing the representing 
and what is represented. Robert Stalnaker, in 
his book Inquiry, suggests an analogy with the 
representation of numbers: The number 9 can be 
represented as ‘12—3’ but it does not follow that 
12, 3, or subtraction are constituents of the number 
9. We could compare a thought and its verbal 
expression with toothpaste and its ‘expression’ from 
a tube. That the result of expressing toothpaste is a 
long, thin, cylinder does not entail that toothpaste 
itself is long, thin, or cylindrical. Similarly, a 
thought might get expressed out loud in a statement 
with a particular linguistic structure. It does not 
follow that ________________________. Suppose, 
for example, that I look at a fruit bowl, and think 
that there is an apple and an orange in that bowl. 
The objects in front of my eyes include some pieces 
of fruit and a bowl, but no object corresponding to 
the word ‘and’ exists either in the world or in my 
visual image. [3점] 

* subtraction: 빼기  ** entail: 의미(함의)하다

① the thought itself has such a structure
② linguistic analysis of a thought is unlikely
③ the language in mind lacks a logical structure
④ a thought and its verbal expression are distinct
⑤ the sentence structurally differs from the thought

NOTE

출처 2020.6.34

2. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오. 

  Not all Golden Rules are alike; two kinds emerged 
over time. The negative version instructs restraint; 
the positive encourages intervention. One sets a 
baseline of at least not causing harm; the other 
points toward aspirational or idealized beneficent 
behavior. While examples of these rules abound, 
too many to list exhaustively, let these versions 
suffice for our purpose here: “What is hateful 
to you do not do to another” and “Love another 
as yourself.” Both versions insist on caring for 
others, whether through acts of omission, such 
as not injuring, or through acts of commission, 
by actively intervening. Yet while these Golden 
Rules encourage an agent to care for an other, 
they . The 
purposeful displacement of concern away from 
the ego nonetheless remains partly self-referential. 
Both the negative and the positive versions invoke 
the ego as the fundamental measure against which 
behaviors are to be evaluated. [3점] 

* an other: 타자(他者) 

① do not lead the self to act on concerns for others 
② reveal inner contradiction between the two versions 
③ fail to serve as a guide when faced with a moral dilemma 
④ do not require abandoning self-concern altogether 
⑤ hardly consider the benefits of social interactions

NOTE

Week 3
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Day 7 2022 KISS ESSENCE 평가원

출처 2017.6.34

3. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

  One remarkable aspect of aboriginal culture is the 
concept of “totemism,” where the tribal member 
at birth assumes the soul and identity of a part 
of nature. This view of the earth and its riches 
as an intrinsic part of oneself clearly rules out 
mistreatment of the environment because this would 
only constitute a destruction of self. Totems are 
more than objects. They include spiritual rituals, 
oral histories, and the organization of ceremonial 
lodges where records of the past travel routes of the 
soul can be exchanged with others and converted 
to mythology. The primary motivation is the 
preservation of tribal myths and a consolidation and 
sharing of every individual’s origins in nature. The 
aborigines see ___________________________, 
through a hierarchy of totems that connect to their 
ancestral origins, a cosmology that places them 
at one with the earth, and behavior patterns that 
respect ecological balance. [3점]

* aboriginal: 원주민의  ** consolidation: 병합, 강화

① themselves as incompatible with nature and her riches
② their mythology as a primary motive toward individualism
③ their identity as being self-contained from surrounding 

nature
④ their relationship to the environment as a single 

harmonious   continuum
⑤ their communal rituals as a gateway to distancing 

themselves from their origins

NOTE

출처 2020.9.33

4. 다음 빈칸에 들어갈 말로 가장 적절한 것을 고르시오. 

  If one looks at the Oxford definition, one gets the 
sense that post-truth is not so much a claim that 
truth does not exist as that facts are subordinate to 
our political point of view. The Oxford definition 
focuses on “what” post-truth is: the idea that 
feelings sometimes matter more than facts. But just 
as important is the next question, which is why this 
ever occurs. Someone does not argue against an 
obvious or easily confirmable fact for no reason; 
he or she does so when it is to his or her advantage. 
When a person’s beliefs are threatened by an 
“inconvenient fact,” sometimes it is preferable 
to challenge the fact. This can happen at either a 
conscious or unconscious level (since sometimes the 
person we are seeking to convince is ourselves), but 
the point is that this sort of post-truth relationship 
to facts occurs only when we are seeking to assert 
something __________________________. [3점]

* subordinate: 종속하는

① to hold back our mixed feelings
② that balances our views on politics
③ that leads us to give way to others in need
④ to carry the constant value of absolute truth
⑤ that is more important to us than the truth itself

NOTE

Week 3

KISS ESSENCE
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by Shean.T

Week 4

간접쓰기

Libra



Day 1
* 작수, 올해 6/9 어법

- 세 시험지에서 공통적으로 나온 어법 사항은 다음과 같다: 수일치, 대명사, 관계사. 두 시험지에서 공통적으로 출제

된 것은 p.p.의 명사 수식과 형용사의 용법(부사, 보어 자리)이 있다. ‘정답’ 요원은, 6평은 병렬(동사 vs. 준동사), 작

수와 올해 9평은 둘 다 관계사였다(완전 불완전 여부). 모두 키그램에 우선순위로 잘 정리되어 있는 부분이니 복습 및 

학습(아직 안 했다면)을 꼭꼭 하도록 하자. 지금 이 코멘트를 보고 ‘수일치가 중요하구나!!’ 할 수도 있지만, 수능에서

는 또 결국 ‘동사 vs. 준동사’가 정답일 때가 많기 때문에 그냥 키그램 Top 5 어법 사항만 제대로 학습하기 바란다. 

Day 2
* 작수, 올해 6/9 어휘

- 올해 6, 9평은 모두 ‘선지가 P 부분인데 S여서’ 오답이었고, 작수는 ‘선지가 S 부분인데 P여서’ 오답이었다. 아주 

높은 확률로 올해 수능도 P여야 하는데 S단어, S여야 하는데 P단어여서 오답일 수 있다. 제발, 내용을 세부적으로 

이해하는 게 아니라 PS 판단을 하는 거다!

Day 3
* 작수, 올해 6/9 요약

- 요약의 기본 틀은 항상 AB이다. 다만, 7, 80프로는 대립적인 AB이지만, 2, 30프로는 어떤 개념의 장점 두 가지 등

을 not only A but also B로 표현해주는, A 인정 AB이다. 어쨌든 핵심은 AB 단어를 정확히 잡는 것. 또한 최근 들

어 요약 ‘지문’이 엄청 어려워지는 추세이니(작수 요약 지문은 내가 읽어도 논문처럼 어렵..), 더욱 더 ‘어휘력 + 논리

력’ 기반 발췌독이 중요해지고 있다.

Day 4
* 작수, 올해 6/9 장문

- 올해 6, 9평 모두 AB와 PS가 복합적으로 결합되어 있는 점이 특징적이다. 굳이 방점을 두자면 AB를 기반으로 그 속

에서 PS를 느끼는 게 좋다. 어휘의 경우 올해 6평은 PS로 나왔지만 작수와 올해 9평은 완전 AB를 틀리게 한 형태였다. 

두 AB의 소재도 비슷하다(단순 vs. 복잡 / 다름 vs. 같음). 어려운 내용도 항상 이런 ‘쉬운 개념’으로 AB를 이해하는 게 

중요하다. 

Day 5
* 주간 KISS 최중요 평가원 4문제

- 최근 평가원 어휘 문제 트렌드에 맞춰서, PS 케이스를 명확히 구분해야 하는 평가원 어휘 문항들로 선정했다. 특히 

내용이 되게 ‘구체적인 이야기 느낌이네..’ 들어가는 순간, PS로 읽어주면 좋다. 

Day 6
* 주간 KISS 최중요 평가원 4문제

- 20수능은 올해 6평처럼 not only A, but also B의 논리로 어떤 개념의 장점 두 가지를 잡아주는 요약으로 넣었고, 

나머지 지문들은 작수와 올해 9평에 맞추어 AB 속에서 P가 여실히 느껴지는 지문들로 선별하였다.

Day 7
* 주간 KISS 최중요 평가원 3세트(장문)

- AB 속에 P가 녹아 들어있는 가장 중요한 최근 장문 3세트를 선정하였다. 올해 수능도 높은 확률로 AB 속에 P가 

녹아 들어있으면서, 어휘 정답은 이 P나 AB로 내고 제목은 AB로 가져가는 형태일 것이다. 단어/해석/논리를 꼼꼼하

게 학습하도록 하자. 

Week 4: 간접쓰기
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출처 2021.수능.35

1. 다음 글에서 전체 흐름과 관계 없는 문장은?

  Workers are united by laughing at shared events, 
even ones that may initially spark anger or conflict. 
Humor reframes potentially divisive events 
into merely “laughable” ones which are put in 
perspective as subservient to unifying values held 
by organization members. Repeatedly recounting 
humorous incidents reinforces unity based on key 
organizational values. ① One team told repeated 
stories about a dumpster fire, something that does 
not seem funny on its face, but the reactions of 
workers motivated to preserve safety sparked 
laughter as the stories were shared multiple times by 
multiple parties in the workplace. ② Shared events 
that cause laughter can indicate a sense of belonging 
since “you had to be there” to see the humor in 
them, and non-members were not and do not. ③ 
Since humor can easily capture people’s attention, 
commercials tend to contain humorous elements, 
such as funny faces and gestures. ④ Instances of 
humor serve to enact bonds among organization 
members. ⑤ Understanding the humor may even be 
required as an informal badge of membership in the 
organization. 

* subservient: 도움이 되는

NOTE

출처 2022.6.35

2. 다음 글에서 전체 흐름과 관계 없는 문장은?

  Kinship ties continue to be important today. In 
modern societies such as the United States people 
frequently have family get-togethers, they telephone 
their relatives regularly, and they provide their kin 
with a wide variety of services. ① Eugene Litwak 
has referred to this pattern of behaviour as the 
‘modified extended family’. ② It is an extended 
family structure because multigenerational ties are 
maintained, but it is modified because it does not 
usually rest on co-residence between the generations 
and most extended families do not act as corporate 
groups. ③ Although modified extended family 
members often live close by, the modified extended 
family does not require geographical proximity and 
ties are maintained even when kin are separated by 
considerable distances. ④ The oldest member of 
the family makes the decisions on important issues, 
no matter how far away family members live from 
each other. ⑤ In contrast to the traditional extended 
family where kin always live in close proximity, 
the members of modified extended families may 
freely move away from kin to seek opportunities for 
occupational advancement. 

* kin: 친족  ** proximity: 근접

NOTE

Week 4 Day 1 2022 KISS ESSENCE 흐름
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출처 2022.9.35

3. 다음 글에서 전체 흐름과 관계 없는 문장은?

  A variety of theoretical perspectives provide insight 
into immigration. Economics, which assumes that 
actors engage in utility maximization, represents one 
framework. ① From this perspective, it is assumed 
that individuals are rational actors, i.e., that they 
make migration decisions based on their assessment 
of the costs as well as benefits of remaining in a 
given area versus the costs and benefits of leaving. 
② Benefits may include but are not limited to short-
term and long-term monetary gains, safety, and 
greater freedom of cultural expression. ③ People 
with greater financial benefits tend to use their 
money to show off their social status by purchasing 
luxurious items. ④ Individual costs include but are 
not limited to the expense of travel, uncertainty of 
living in a foreign land, difficulty of adapting to 
a different language, uncertainty about a different 
culture, and the great concern about living in a new 
land. ⑤ Psychic costs associated with separation 
from family, friends, and the fear of the unknown 
also should be taken into account in cost-benefit 
assessments. 

* psychic: 심적인

NOTE

NOTE

Day 1 2022 KISS ESSENCE 흐름Week 4
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출처 2021.수능.36

1. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  The objective of battle, to “throw” the enemy and 
to make him defenseless, may temporarily blind 
commanders and even strategists to the larger 
purpose of war. War is never an isolated act, nor is it 
ever only one decision. 

(A) To be political, a political entity or a representative 
of a political entity, whatever its constitutional 
form, has to have an intention, a will. That 
intention has to be clearly expressed. 

(B) In the real world, war’s larger purpose is always 
a political purpose. It transcends the use of 
force. This insight was famously captured by 
Clausewitz’s most famous phrase, “War is a 
mere continuation of politics by other means.” 

(C) And one side’s will has to be transmitted to the 
enemy at some point during the confrontation 
(it does not have to be publicly communicated). 
A violent act and its larger political intention 
must also be attributed to one side at some point 
during the confrontation. History does not know 
of acts of war without eventual attribution. 

* entity: 실체  ** transcend: 초월하다

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE

Week 4 Day 2 2022 KISS ESSENCE 순서

출처 2021.수능.37

2. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  Experts have identified a large number of measures 
that promote energy efficiency. Unfortunately many 
of them are not cost effective. This is a fundamental 
requirement for energy efficiency investment from 
an economic perspective. 

(A) And this has direct repercussions at the 
individual level: households can reduce the 
cost of electricity and gas bills, and improve 
their health and comfort, while companies 
can increase their competitiveness and their 
productivity. Finally, the market for energy 
efficiency could contribute to the economy 
through job and firms creation. 

(B) There are significant externalities to take into 
account and there are also macroeconomic 
effects. For instance, at the aggregate level, 
improving the level of national energy efficiency 
has positive effects on macroeconomic issues 
such as energy dependence, climate change, 
health, national competitiveness and reducing 
fuel poverty. 

(C) However,  the calculat ion of  such cost 
effectiveness is not easy: it is not simply a case 
of looking at private costs and comparing them 
to the reductions achieved. [3점] 

* repercussion: 반향, 영향  ** aggregate: 집합의

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE

KISS ESSENCE
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Day 2 2022 KISS ESSENCE Week 4

출처 2021.수능.38

3. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

 I have still not exactly pinpointed Maddy’s 
character since wickedness takes many forms.

  Imagine I tell you that Maddy is bad. Perhaps 
you infer from my intonation, or the context in 
which we are talking, that I mean morally bad. 
Additionally, you will probably infer that I am 
disapproving of Maddy, or saying that I think you 
should disapprove of her, or similar, given typical 
linguistic conventions and assuming I am sincere. 
( ① ) However, you might not get a more detailed 
sense of the particular sorts of way in which Maddy 
is bad, her typical character traits, and the like, since 
people can be bad in many ways. ( ② ) In contrast, 
if I say that Maddy is wicked, then you get more of 
a sense of her typical actions and attitudes to others. 
( ③ ) The word ‘wicked’ is more specific than ‘bad’. 
( ④ ) But there is more detail nevertheless, perhaps 
a stronger connotation of the sort of person Maddy 
is. ( ⑤ ) In addition, and again assuming typical 
linguistic conventions, you should also get a sense 
that I am disapproving of Maddy, or saying that you 
should disapprove of her, or similar, assuming that 
we are still discussing her moral character. 

NOTE

출처 2021.수능.39

4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

Note that copyright covers the expression of an idea 
and not the idea itself. 

  Designers draw on their experience of design 
when approaching a new project. This includes 
the use of previous designs that they know work 
― both designs that they have created themselves 
and those that others have created. ( ① ) Others’ 
creations often spark inspiration that also leads to 
new ideas and innovation. ( ② ) This is well known 
and understood. ( ③ ) However, the expression of 
an idea is protected by copyright, and people who 
infringe on that copyright can be taken to court 
and prosecuted. ( ④ ) This means, for example, 
that while there are numerous smartphones all 
with similar functionality, this does not represent 
an infringement of copyright as the idea has been 
expressed in different ways and it is the expression 
that has been copyrighted. ( ⑤ ) Copyright is free 
and is automatically invested in the author, for 
instance, the writer of a book or a programmer who 
develops a program, unless they sign the copyright 
over to someone else. [3점] 

* infringe: 침해하다  ** prosecute: 기소하다

NOTE

문장 삽입
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출처 2022.6.37

2. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  A f i rm is  dec id ing  whether  to  inves t  in 
shipbuilding. If it can produce at sufficiently large 
scale, it knows the venture will be profitable. 

(A) There is a “good” outcome, in which both 
types of investments are made, and both the 
shipyard and the steelmakers end up profitable 
and happy. Equilibrium is reached. Then there 
is a “bad” outcome, in which neither type of 
investment is made. This second outcome also 
is an equilibrium because the decisions not to 
invest reinforce each other. 

(B) Assume that shipyards are the only potential 
customers of steel. Steel producers figure 
they’ll make money if there’s a shipyard to buy 
their steel, but not otherwise. Now we have 
two possible outcomes ― what economists call 
“multiple equilibria.” 

(C) But one key input is low-cost steel, and it must 
be produced nearby. The company’s decision 
boils down to this: if there is a steel factory 
close by, invest in shipbuilding; otherwise, 
don’t invest. Now consider the thinking of 
potential steel investors in the region. [3점]

 * equilibrium: 균형

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE

Week 4 Day 3 2022 KISS ESSENCE 순서

출처 2022.6.36

1. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  Spatial reference points are larger than themselves. 
This isn’t  really a paradox: landmarks are 
themselves, but they also define neighborhoods 
around themselves. 

(A) In a paradigm that has been repeated on many 
campuses, researchers first collect a list of 
campus landmarks from students. Then they 
ask another group of students to estimate the 
distances between pairs of locations, some 
to landmarks, some to ordinary buildings on 
campus. 

(B) This asymmetry of distance estimates violates 
the most elementary principles of Euclidean 
distance, that the distance from A to B must be 
the same as the distance from B to A. Judgments 
of distance, then, are not necessarily coherent. 

(C) The remarkable finding is that distances from 
an ordinary location to a landmark are judged 
shorter than distances from a landmark to an 
ordinary location. So, people would judge the 
distance from Pierre’s house to the Eiffel Tower 
to be shorter than the distance from the Eiffel 
Tower to Pierre’s house. Like black holes, 
landmarks seem to pull ordinary locations 
toward themselves, but ordinary places do not. 

* asymmetry: 비대칭 

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE
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출처 2022.9.37

4. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  Recently, a number of commercial ventures have 
been launched that offer social robots as personal 
home assistants, perhaps eventually to rival existing 
smart-home assistants. 

(A) They might be motorized and can track the 
user around the room, giving the impression of 
being aware of the people in the environment. 
Although personal robotic assistants provide 
services similar to those of smart-home 
assistants, their social presence offers an 
opportunity that is unique to social robots. 

(B) Personal robotic assistants are devices that 
have no physical manipulation or locomotion 
capabilities. Instead, they have a distinct social 
presence and have visual features suggestive of 
their ability to interact socially, such as eyes, 
ears, or a mouth. 

(C) For instance, in addition to playing music, a 
social personal assistant robot would express its 
engagement with the music so that users would 
feel like they are listening to the music together 
with the robot. These robots can be used as 
surveillance devices, act as communicative 
intermediates, engage in richer games, tell 
stories, or be used to provide encouragement or 
incentives. [3점]

 * locomotion: 이동  ** surveillance: 감시

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE

Day 3 2022 KISS ESSENCE 순서Week 4

출처 2022.9.36

3. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오.

  Green products involve, in many cases, higher 
ingredient costs than those of mainstream products.

(A) They’d rather put money and time into known, 
profitable, high-volume products that serve 
populous customer segments than into risky, 
less-profitable, low-volume products that 
may serve current noncustomers. Given that 
choice, these companies may choose to leave 
the green segment of the market to small niche 
competitors. 

(B) Even if the green product succeeds, it may 
cannibalize the company’s higher-profit 
mainstream offerings. Given such downsides, 
companies serving mainstream consumers 
with successful mainstream products face what 
seems like an obvious investment decision. 

(C) Furthermore, the restrictive ingredient lists and 
design criteria that are typical of such products 
may make green products inferior to mainstream 
products on core performance dimensions (e.g., 
less effective cleansers). In turn, the higher 
costs and lower performance of some products 
attract only a small portion of the customer 
base, leading to lower economies of scale in 
procurement, manufacturing, and distribution. 

* segment: 조각  ** cannibalize: 잡아먹다 
*** procurement: 조달 

① (A) - (C) - (B)                ② (B) - (A) - (C) 
③ (B) - (C) - (A)                ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

NOTE
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출처 2022.6.38

1. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

A problem, however, is that supervisors often 
work in locations apart from their employees and 
therefore are not able to observe their subordinates’ 
performance. 

  In most organizations, the employee’s immediate 
supervisor evaluates the employee’s performance. ( 
① ) This is because the supervisor is responsible for 
the employee’s performance, providing supervision, 
handing out assignments, and developing the 
employee. ( ② ) Should supervisors rate employees 
on performance dimensions they cannot observe? 
( ③ ) To eliminate this dilemma, more and more 
organizations are implementing assessments referred 
to as 360-degree evaluations. ( ④ ) Employees are 
rated not only by their supervisors but by coworkers, 
clients or citizens, professionals in other agencies 
with whom they work, and subordinates. ( ⑤ ) The 
reason for this approach is that often coworkers 
and clients or citizens have a greater opportunity 
to observe an employee’s performance and are in 
a better position to evaluate many performance 
dimensions. 

* subordinate: 부하 직원

NOTE

Week 4 Day 4 2022 KISS ESSENCE 문장 삽입

출처 2022.6.39

2. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

This is particularly true since one aspect of sleep is 
decreased responsiveness to the environment. 

  The role that sleep plays in evolution is still 
under study. ( ① ) One possibility is that it is 
an advantageous adaptive state of decreased 
metabolism for an animal when there are no more 
pressing activities. ( ② ) This seems true for deeper 
states of inactivity such as hibernation during the 
winter when there are few food supplies, and a high 
metabolic cost to maintaining adequate temperature. 
( ③ ) It may be true in daily situations as well, 
for instance for a prey species to avoid predators 
after dark. ( ④ ) On the other hand, the apparent 
universality of sleep, and the observation that 
mammals such as cetaceans have developed such 
highly complex mechanisms to preserve sleep on 
at least one side of the brain at a time, suggests that 
sleep additionally provides some vital service(s) for 
the organism. ( ⑤ ) If sleep is universal even when 
this potential price must be paid, the implication 
may be that it has important functions that cannot 
be obtained just by quiet, wakeful resting. [3점] 

* metabolism: 신진대사  ** mammal: 포유동물

NOTE
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출처 2022.9.38

3. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

It was not until relatively recent times that scientists 
came to understand the relationships between the 
structural elements of materials and their properties.

  The earliest humans had access to only a very 
limited number of materials, those that occur 
naturally: stone, wood, clay, skins, and so on. ( ① ) 
With time, they discovered techniques for producing 
materials that had properties superior to those of the 
natural ones; these new materials included pottery 
and various metals. ( ② ) Furthermore, it was 
discovered that the properties of a material could 
be altered by heat treatments and by the addition 
of other substances. ( ③ ) At this point, materials 
utilization was totally a selection process that 
involved deciding from a given, rather limited set 
of materials, the one best suited for an application 
based on its characteristics. ( ④ ) This knowledge, 
acquired over approximately the past 100 years, 
has empowered them to fashion, to a large degree, 
the characteristics of materials. ( ⑤ ) Thus, tens 
of thousands of different materials have evolved 
with rather specialized characteristics that meet the 
needs of our modern and complex society, including 
metals, plastics, glasses, and fibers. 

NOTE

Day 4 2022 KISS ESSENCE 문장 삽입Week 4

출처 2022.9.39

4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

Personal stories connect with larger narratives to 
generate new identities.  

  The growing complexity of the social dynamics 
determining food choices makes the job of 
marketers and advertisers increasingly more 
difficult. ( ① ) In the past, mass production allowed 
for accessibility and affordability of products, as 
well as their wide distribution, and was accepted as 
a sign of progress. ( ② ) Nowadays it is increasingly 
replaced by the fragmentation of consumers among 
smaller and smaller segments that are supposed 
to reflect personal preferences. ( ③ ) Everybody 
feels different and special and expects products 
serving his or her inclinations. ( ④ ) In reality, 
these supposedly individual preferences end up 
overlapping with emerging, temporary, always 
changing, almost tribal formations solidifying 
around cultural sensibilities, social identifications, 
political sensibilities, and dietary and health 
concerns. ( ⑤ ) These consumer communities go 
beyond national boundaries, feeding on global and 
widely shared repositories of ideas, images, and 
practices. [3점] 

* fragmentation: 파편화  ** repository: 저장소

NOTE
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Week 4 Day5 2022 KISS ESSENCE 평가원

출처 2018.6.37

1. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  There’s a direct counterpart to pop music in the 
classical song, more commonly called an “art 
song,” which does not focus on the development of 
melodic material.

(A)  But the pop song will rarely be sung and played 
exactly as written; the singer is apt to embellish 
that vocal line to give it a “styling,” just as the 
accompanist will fill out the piano part to make 
it more interesting and personal. The performers 
might change the original tempo and mood 
completely.

(B) Both the pop song and the art song tend to 
follow tried-and-true structural patterns. And 
both will be published in the same way ― with 
a vocal line and a basic piano part written out 
underneath.

(C) You won’t find such extremes of approach by 
the performers of songs by Franz Schubert or 
Richard Strauss. These will be performed note 
for note because both the vocal and piano parts 
have been painstakingly written down by the 
composer with an ear for how each relates to the 
other. [3점]

* embellish: 꾸미다  ** tried-and-true: 유효성이 증명된

① (A) － (C) － (B)            ② (B) － (A) － (C)
③ (B) － (C) － (A)            ④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

NOTE

출처 2019.9.37

2. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  Ever since the first scientific opinion polls revealed 
that most Americans are at best poorly informed 
about politics, analysts have asked whether citizens 
are equipped to play the role democracy assigns 
them.

(A) Such factors, however, can explain only the 
misinformation that has always been with us. 
The sharp rise in misinformation in recent years 
has a different source: our media. “They are 
making us dumb,” says one observer. When fact 
bends to fiction, the predictable result is political 
distrust and polarization.

(B) It’s the difference between ignorance and 
irrationality. Whatever else one might conclude 
about self-government, it’s at risk when citizens 
don’t know what they’re talking about. Our 
misinformation owes partly to psychological 
factors, including our tendency to see the world 
in ways that suit our desires.

(C) However, there is something worse than an 
inadequately informed public, and that’s a 
misinformed public. It’s one thing when citizens 
don’t know something, and realize it, which has 
always been a problem. It’s another thing when 
citizens don’t know something, but think they 
know it, which is the new problem.

* poll: 여론 조사

① (A) － (C) － (B)            ② (B) － (A) － (C)
③ (B) － (C) － (A)            ④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

NOTE
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출처 2020.수능.37

4. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  Traditionally, Kuhn claims, the primary goal of 
historians of science was ‘to clarify and deepen an 
understanding of contemporary scientific methods 
or concepts by displaying their evolution’.

(A) Some discoveries seem to entail numerous 
phases and discoverers, none of which can 
be identified as definitive. Furthermore, the 
evaluation of past discoveries and discoverers 
according to present-day standards does not 
allow us to see how significant they may have 
been in their own day.

(B)  This  entai led re la t ing the progress ive 
accumulation of breakthroughs and discoveries. 
Only that which survived in some form in the 
present was considered relevant. In the mid-
1950s, however, a number of faults in this view 
of history became apparent. Closer analysis of 
scientific discoveries, for instance, led historians 
to ask whether the dates of discoveries and their 
discoverers can be identified precisely.

(C) Nor does the traditional view recognise the 
role that non-intellectual factors, especially 
institutional and socio-economic ones, play 
in scientific developments. Most importantly, 
however, the traditional historian of science 
seems blind to the fact that the concepts, 
questions and standards that they use to frame 
the past are themselves subject to historical 
change. [3점]

① (A) － (C) － (B)    	 ② (B) － (A) － (C)
③ (B) － (C) － (A)     	④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

NOTE

Day 5 2022 KISS ESSENCE Week 4 평가원

출처 2017.수능.37

3. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  Evolution works to maximize the number of 
descendants that an animal leaves behind. Where 
the risk of death from fishing increases as an animal 
grows, evolution favors those that grow slowly, 
mature younger and smaller, and reproduce earlier.

(A) Surely these adaptations are good news for 
species hard-pressed by excessive fishing? Not 
exactly. Young fish produce many fewer eggs 
than large-bodied animals, and many industrial 
fisheries are now so intensive that few animals 
survive more than a couple of years beyond the 
age of maturity.

(B) This is exactly what we now see in the wild. 
Cod in Canada’s Gulf of St. Lawrence begin 
to reproduce at around four today; forty years 
ago they had to wait until six or seven to reach 
maturity. Sole in the North Sea mature at half 
the body weight they did in 1950.

(C) Together this means there are fewer eggs and 
larvae to secure future generations. In some 
cases the amount of young produced today is a 
hundred or even a thousand times less than in 
the past, putting the survival of species, and the 
fisheries dependent on them, at grave risk. [3점]

① (A) － (C) － (B)    	 ② (B) － (A) － (C)
③ (B) － (C) － (A)     	④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

NOTE
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출처 2020.9.37

1. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  Because a main goal of science is to discover lawful 
relationships, science assumes that what is being 
investigated is lawful. For example, the chemist 
assumes that chemical reactions are lawful, and the 
physicist assumes that the physical world is lawful.

(A) The determinist, then, assumes that everything 
that occurs is a function of a finite number of 
causes and that, if these causes were known, 
an event could be predicted with complete 
accuracy. However, knowing all causes of an 
event is not necessary; the determinist simply 
assumes that they exist and that as more causes 
are known, predictions become more accurate.

(B) The assumption that what is being studied 
can be understood in terms of causal laws is 
called determinism. Richard Taylor defined 
determinism as the philosophical doctrine that 
“states that for everything that ever happens 
there are conditions such that, given them, 
nothing else could happen.”

(C) For example, almost everyone would agree that 
the weather is a function of a finite number of 
variables such as sunspots, high-altitude jet 
streams, and barometric pressure; yet weather 
forecasts are always probabilistic because many 
of these variables change constantly, and others 
are simply unknown.

* altitude: 고도(高度)  ** barometric: 기압의

① (A) － (C) － (B)                ② (B) － (A) － (C)
③ (B) － (C) － (A)                ④ (C) － (A) － (B)
⑤ (C) － (B) － (A) 

NOTE

출처 2018.9.37

2. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 
고르시오. 

  Today the term artist is used to refer to a broad 
range of creative individuals across the globe from 
both past and present. This rather general usage 
erroneously suggests that the concept or word 
“artist” existed in original contexts.

(A) Inventions, ideas, and discoveries have been 
credited to the persons who originated them. 
This view is also at the core of the definition 
of an “artist.” Artists are perceived to establish 
a strong bond with their art to the point of 
combining into one “entity.”

(B) In contrast to the diversity it is applied to, 
the meaning of this term continues to be 
mostly based on Western views and values. 
Since the fifteenth century, this tradition has 
been concerned with recognizing individual 
achievements.

(C) Art history has reinforced this oneness: A 
painting by Pablo Picasso is called “a Picasso.” 
This union between artists and their work has 
determined the essential qualities of an artist: 
originality, authorship, and authenticity. [3점]

* authenticity: 진정함, 확실성

① (A) － (C) － (B)                  ② (B) － (A) － (C)
③ (B) － (C) － (A)                  ④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

NOTE

Week 4 Day 6 2022 KISS ESSENCE 평가원
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출처 2020.6.39

3. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오. 

That puts you each near a focus, a special point 
at which the sound of your voice gets focused as 
it reflects off the passageway’s curved walls and 
ceiling. 

  Whispering galleries are remarkable acoustic spaces 
found beneath certain domes or curved ceilings. A 
famous one is located outside a well-known restaurant 
in New York City’s Grand Central Station. ( ① ) It’s a 
fun place to take a date: the two of you can exchange 
romantic words while you’re forty feet apart and 
separated by a busy passageway. ( ② ) You’ll hear 
each other clearly, but the passersby won’t hear a word 
you’re saying. ( ③ ) To produce this effect, the two 
of you should stand at diagonally opposite corners of 
the space, facing the wall. ( ④ ) Ordinarily, the sound 
waves you produce travel in all directions and bounce 
off the walls at different times and places, scrambling 
them so much that they are inaudible when they arrive 
at the ear of a listener forty feet away. ( ⑤ ) But when 
you whisper at a focus, the reflected waves all arrive at 
the same time at the other focus, thus reinforcing one 
another and allowing your words to be heard. [3점]

* acoustic: 음향의  ** diagonally: 대각선으로

NOTE

출처 2017.6.38

4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

That is why people experience jet lag when 
traveling across time zones. 

  In humans, body clocks are responsible for daily 
changes in blood pressure, body temperature, 
hormones, hunger, and thirst, as well as our sleep-
wake cycles. ( ① ) These biological rhythms, 
which we experience as internal time, are probably 
older than sleep, developed over the course of 
millions of years of evolution. ( ② ) They facilitate 
physiological and behavioral changes on a roughly 
twenty-four-hour cycle no matter what is happening 
outside, whether a cold front moves in or clouds 
block the light of the sun. ( ③ ) Their internal 
clocks continue to run in accordance with the place 
they left behind, not the one to which they have 
come, and it can take some time to realign the two. 
( ④ ) The most remarkable thing is that our internal 
body clocks can be readjusted by environmental 
cues. ( ⑤ ) We may get jet lag for a few days when 
we ask our body clocks to adapt to a vastly different 
schedule of day and night cycles on the other side of 
the Earth, but they can do it. [3점]

* facilitate: 쉽게 하다  ** realign: 재조정하다

NOTE

Day6 2022 KISS ESSENCE 평가원Week 4
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출처 2020.수능.39

1. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

Still, it is arguable that advertisers worry rather too 
much about this problem, as advertising in other 
media has always been fragmented.

  The fragmentation of television audiences during 
recent decades, which has happened throughout 
the globe as new channels have been launched 
everywhere, has caused advertisers much concern. ( 
① ) Advertisers look back nostalgically to the years 
when a single spot transmission would be seen by 
the majority of the population at one fell swoop. ( 
② ) This made the television advertising of mass 
consumer products relatively straightforward ― 
not to say easy ― whereas today it is necessary 
for advertisers to build up coverage of their target 
markets over time, by advertising on a host of 
channels with separate audiences. ( ③ ) Moreover, 
advertisers gain considerable benefits from the price 
competition between the numerous broadcasting 
stations. ( ④ ) And television remains much the 
fastest way to build up public awareness of a new 
brand or a new campaign. ( ⑤ ) Seldom does a new 
brand or new campaign that solely uses other media, 
without using television, reach high levels of public 
awareness very quickly. [3점]

* fragment: 조각내다  ** at one fell swoop: 단번에, 일거에

NOTE

출처 2020.9.38

2. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

The field of international politics is, however, 
dominated by states and other powerful actors (such 
as multinational corporations) that have priorities 
other than human rights. 

  There is obviously a wide gap between the 
promises of the Universal Declaration of Human 
Rights in 1948 and the real world of human-rights 
violations. In so far as we sympathize with the 
victims, we may criticize the UN and its member 
governments for failing to keep their promises. ( ① 
) However, we cannot understand the gap between 
human-rights ideals and the real world of human-
rights violations by sympathy or by legal analysis. ( 
② ) Rather, it requires investigation by the various 
social sciences of the causes of social conflict 
and political oppression, and of the interaction 
between national and international politics. ( ③ ) 
The UN introduced the concept of human rights 
into international law and politics. ( ④ ) It is a 
leading feature of the human-rights field that the 
governments of the world proclaim human rights 
but have a highly variable record of implementing 
them. ( ⑤ ) We must understand why this is so.

* oppression: 억압

NOTE
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출처 2020.9.39

3. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

So, there was a social pressure for art to come up 
with some vocation that both distinguished it from 
science and, at the same time, made it equal in 
stature to science.

  Representational theories of art treat the work of 
the artist as similar to that of the scientist. Both, so 
to speak, are involved in describing the external 
world. ( ① ) But by the nineteenth century, any 
comparison between the scientist and the artist 
was bound to make the artist look like a poor 
relation in terms of making discoveries about the 
world or holding a mirror up to nature. ( ② ) Here, 
science clearly had the edge. ( ③ ) The notion that 
art specialized in the expression of the emotions 
was particularly attractive in this light. ( ④ ) It 
rendered unto science its own ― the exploration 
of the objective world ― while saving something 
comparably important for art to do ― to explore 
the inner world of feeling. ( ⑤ ) If science held the 
mirror up to nature, art turned a mirror at the self 
and its experiences. [3점]

* vocation: 소명  ** stature: 수준  *** render: 주다

NOTE

출처 2018.9.39

4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적
절한 곳을 고르시오.

But it is no light matter to quickly and correctly pen 
a long and complicated composition. 

  There are many instances of rapid work on the 
part of the great composers; and their facility and 
quickness of composition causes great wonder 
and admiration. ( ① ) But our admiration is often 
misdirected. ( ② ) When we hear of some of 
the speedy writing of great works by Mozart or 
Mendelssohn, we might think that this speed was 
of the composing power as well as of pen, but, 
in fact, such was seldom the case. ( ③ ) These 
great musicians generally did their composition 
mentally without reference to pen or piano, and 
simply postponed the unpleasant manual labor of 
committing their music to paper until it became 
absolutely necessary. ( ④ ) Then they got credit for 
incredible rapidity of composition. ( ⑤ ) One has 
only to copy a piece of music or to try to put into 
notes some piece of music previously memorized, 
to realize this. [3점]

NOTE
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빠른 정답Week 4

Day 1

Day 2

Day 3

Day 4

Day 5

Day 6

Day 7

1 2 3

③ ④ ③

1 2 3 4

② ⑤ ④ ④

1 2 3 4

① ⑤ ⑤ ②

1 2 3 4

② ⑤ ④ ⑤

1 2 3 4

② ⑤ ② ②

1 2 3 4

② ② ④ ③

1 2 3 4

③ ④ ③ ⑤
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